2023 = 231 =X AH EFRHEx)

NO. EMY XX} STAL 37t R A
1 |HAMENX| (M7 Z0f 25 64)(FE-E Hardcover| 233 HEA 12,000 1 12,000
2 |HHoHOt 1: OJAE 2| 1005 ZS(YEE Hardcover) HHOHOf MEBAAEZ|F|AN 15000 1 15,000
3 |HcHor 2: FFHMA @7 WX T(ZEE Hardcover) Hi OH Of MEBIAAEZ|Z|H 15000 1 15,000
4 |HHQHO} 3: @M AF A4l St HHOHOf MEBIAAER| 15,000 1 15,000
5 (ZEIALE 2oto] AT 1. MO AZHEEE Hardcov{Y 2 GE MEZSHAL 15,000 1 15,000
6 [=2HEOH O|F7] 1 sl Ol oto| M= 14,500 1 14,500
7 |ASTX[Fo| HICHE S 12 13) N 2ete Atmta| 13,500 1] 13,500
8 |Mael B E ofo|A7 B (YA Hardcover) Of==E= 7} H7| bk M XY 14,000 1 14,000
9 (MAo| BZ P HCHHET MA I 228)(FEE HOA I3 Y SXFEL|0f 14,000 1 14,000
10 [E38EIFD 20 42 2™ 119)(YEHE Hardcov| 21X £ 0 Zeiofzlof 13,000 1 13,000
11 |OHHEXLE 25: BIE8I0| BHoteh Yol + SHAER ot2= 14,000 1 14,000
12 |OFHERIR 26: ER S Wl ALIE W SUAEL ot2= 14,000 1 14,000
13 |OHRHEXLZ 27: 2H5HA| H|F0{2H H|E = SHAER otE2= 14,000 1 14,000
14 (OHHEXLE 28: stRo 2 2ojeh 2 Y 3| SUAEL otE2= 14,000 1 14,000
15 |OFEEXLE 29: &S ioHEH EE2x SUAEL otE2= 14,000 1 14,000
16 [OHHEXLE 30: w2 M), ddel ==X & B 2UAED otE2= 14,000 1 14,000
17 |OFEEXEZ F7125E M E D(31~40#) (T 10H) 2CHAED o2& 119,000 1| 119,000
18 |OHRHEXLE "ItQISH M E E@1-503) (T 10H) 2CHAED o2& 119,000 1| 119,000
19 |OFHEXLE 51 TH2tskA| Yiteh Sd 3 2UAER ot2= 14,000 1 14,000
20 |OFHHEALE 52: 23 2ot2h 22 2 SHAED o2& 14,000 1 14,000
21 |OFHMXLE 53 A™E W2|ch ZEhe 4 SUAED ot2= 14,000 1 14,000
22 |OHEHHMALE 54: S22 ROt CH U SUAED o2& 14,000 1| 14,000
23 |OFHEXLE 55 2HSHA Hefizt 23 SHAED o= 14,000 1 14,000
24 |OHHMXLE 56: E&0f OFF CHECH EY SHAED o2& 14,000 1 14,000
25 |OPHEXIE 57: U =2 et A SUAEL o2& 14,000 1| 14,000
26 |OHHMALE 58: 2 -t 2l Chotch & SHAED o2& 14,000 1 14,000
27 |OHHHEXLE 59: A HAIZ o|o{¢CH AE SHAED o2& 14,000 1 14,000
28 [0l 15FAF 10 Of LEFA} Oj2fMoto| M2 14,500 1 14,500
29 |EBIMO| ot AL CHE R 25 HolA CHE 00| 13,000 1 13,000
30 |EEIMo| ot AL THE R 26 Aol CHE 00| 13,000 1 13,000
31 |2 oIt £l = B(E2Mojzlo] aEEHED 8) z224 Z2™0{ 20 11,000 1| 11,000
32 |Het It 0|E0| &= =7 (dEs2t 15) z23 LEQIE0{ 20| 11,000 1 11,000
33 [Stst AHof S (THE0[H| HE 8) (R delz| H &4 12,000 1| 12,000
34 |E5F0| 2 5 2252 sHYUX|(LHE Hardcover) (& =0| F3AES 13,500 1 13,500
35 |[S50| €8 4 252 Hete 22l MO EE Hald =0 F3EE 13,500 1 13,500
36 |S50| £ 3: Lt ofZol= QiCt Zz0| F3AES 12,500 1 12,500
37 |SF0| 28 2: 2SS S0 & H (Y E HardcoyZd =0 F3AES 12,500 1 12,500
38 |S50| 2 1: Ot0| =2 X|Az2H rag=aal F3AES 12,500 1 12,500
39 |F71 M 2| HoHEHR 20| 2 5% 13) AN S 13,000 1 13,000
40 (44 "ot Y OFE Satd 33t 12) Tz o= 13,000 1 13,000
41 |QEXIALE Azt ot 12,000 1 12,000
42 |AY|E S0 E-LCH EEATAEE| 020 EES2] 0|0} HE|ETAL 13,000 1| 13,000
43 [0FZ0| = WA (YF & Hardcover) RSP = Fam =l 15,800 1 15,800
44 |BM & 50 0| =C(E =252t 6) 7|82t ROIX]| EQlE0{ 20| 9,500 1 9,500
45 |M FOA(ES) (2022)(61**) Sot=o Sot=mt 25,000 7| 175,000
46 |HX| SF &z 3 =Y nefrtss=EAE 11,000 1 11,000
47 |OF& 4| 7f71|(6“é;12H 19) Hrag DE7tsA=EE 13,000 1 13,000
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NO. EMY XX} ETHAL 87t g A
48 |O2ZI0] AR =X Ol M2 Op7tE 12,000 1 12,000
49 |2X7] HoZ(RElgn o200 1) =824 2% 14,000 1 14,000
50 |20 EHA(YS YA 91)(YEE Hardcover) So4 HE2 12,000 1 12,000
51 |fFE AE F25(E27¢ 47) AX =02 13,000 1 13,000
52 |SCt ZOtX| &8 4: Fe{Zl O AA(YE= Hardcove| S T ChAtO{ 20| 12,000 1 12,000
53 [&17[5t oF EafH| AlE 5(2EE Hardcover) ZEA| =H 13,000 1 13,000
54 |OpEIChEREE AHA O C|&)(FEE Hardcover) 2 o ASFLO 14,500 1 14,500
55 [O{ZI0] ==HI(HBAM HEE HHE)(BUe 35 313t oZhg 12,000 1 12,000
56 |s%t A 07| MET23) =03 AKX 29,000 1 29,000
57 |EH HAF A25H(EH|OtEE D 312) =3 | 10,800 1 10,800
58 (2100 128 31 (2t &4 A= AlZh 4= 25t 14,000 1 14,000
59 |HiCt7} S22l HolA OFX|Ch A3 29 16,000 1 16,000
60 |HICH7 E2l= oA 2 OFX|C} A3 29 15,000 1 15,000
61 [O{HE O|A Ht2 Mol MY (e 20|0F 26) o8l AXEF0{l0| 12,000 1 12,000
62 |0 EL| W7t HIZ FZ9| n4=(22f 0|0} 36) o|&el AXEF0{l0| 12,000 1 12,000
63 |OlstE =0| & Z[Ze| F3 (22 20|0F 53) o8l A= &0{2l0| 13,000 1 13,000
64 |HBFE & HiotHd 2 ojojoj WEZ|LIQ 13,800 1 13,800
65 |O|&tgt IAL ZHA| AT 18 S|Z A0t 0|2 AeAZ 13,000 1 13,000
66 |4 S0|3H M S|Z A0 0|2 deAZ 13,000 1 13,000
67 |BAS9 QAVEFEIAM 12: Q1ZH2 £ Eglo] ofgo|n2 o225 15,800 1 15,800
68 |HI7I @H F2l= &4H =& 20|35t~ 16,800 1 16,800
69 |=2tEOie| =9t 27|14 1 Sty Oj2fAorO| M2 12,000 1 12,000
70 |29tEOje] =9t 27|14 3 Sty Oj2fAoto| M2 12,000 1 12,000
71 |29tEOie =9t 27|14 6 Sty Oj2fAoto| M2 13,000 1 13,000
72 |29tEOie =9t 27| 7 Sty Oj2fAoto| M2 14,000 1 14,000
73 |29tEOie] =9t 27|14 8 Sty Oj2fAoto| M2 14,000 1 14,000
74 |23HEOie] =9t 27|49 Sty Oj2fAorO| M2 14,000 1 14,000
75 |23 A ofF 2: OFX[9 oW (&H| Ots 21 299) |[HESE | 10,800 1 10,800
76 [T XA O 3(RHAEY dds | 12,000 1 12,000
77 |FHALES| XICHE Y 5 AHEFl| AE5 (M2 WY Fe[MAE =Hg 15,000 1 15,000
78 |RHAFE S X HY 6: HE vS BHI(MZE HE = Of| KA =4 15,000 1 15,000
79 |XHAREO] RICHEH R 7: = VS TR (HZUS HE & Of| MArE =4 15,000 1 15,000
80 [07|= M2 YL CHEZT ME0| 34 (L2 Hardcol| H = 7|Cte| 16,800 1 16,800
81 |EE HX| Yo L7} DR TCtA2(FEE ¥ 4R (E20|8 7|HE [FE&FYHY 13,800 1 13,800
82 |X[Fe| GAZL 1HOItHONEEN(FEx A2 LIR 24) |HIOH|E J.ADA | EESZFLIO 14,000 1 14,000
83 |20 StLi(HEM & 22 )P = Hardcover) Mg Tt A 13,900 11 13,900
84 |Floz 7= of 20/= H|L oL AotZ 2| 7tof 16,800 1| 16,800
85 |E2f Ot ey EYALESA 17,000 1] 17,000
86 [OI=E(84H) =AY CEd 16,800 1] 16800
87 |HREl AtA MRE A7 Zg|ol oja|AH (AQEA 18,000 1 18,000
88 |017|= HAEE, Edst T A|ES EL|C} 7tE 2 Z Z (Feelm) 15,000 1 15,000
89 || 29 24 HAEH XIO|AESEA 15,000 1 15,000
9 [0l & W S20 47t SoRtCt MNo|zt 2 g 15,000 1 15,000
91 |MZ0| 2 (QIALO|E 0fC|M) AX[3 WEZ|LLOI 14,500 1 14,500
92 |?IME H|O|H2| NS (= EY)(ZY = Hardcover) 7Yz | 14,000 1] 14,000
93 |XtO|0j| 2tot 42z} mEtA £ g NEMH 22,000 1| 22,000
94 [1%E 2= & o2 EUol= 22,000 1| 22,000
95 |2+l WALRE WAL E|7| olgdrt nEISHH 19,000 1 19,000
96 |10{2| OFO| (Y%= HardCover) ZX|2 Ato|AAg A 18,500 1 18,500
97 |O0{Xtotolol & Of2|E} 5|0 = {reto|= 15,000 1 15,000
98 |Z|HA ME= ¥0] S s 2}O| = HT| O| X| 18,500 1 18,500
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NO. EMH XX} Z=TtA} X7t HA SHA|
99 |22| oto] A &0l 3E tM| = ArAtopzth|Of 18,000 1 18,000

100 |2 ot=o| Hoj 4=3] =gt 14,000 1 14,000

101 |0{E2 3 & HI0o] 2R L(ESSH HAH 66) 0| 2aEU| 12,500 1 12,500

102 |HAHHES ot=aAL HHH™ Z|Efd ZHEHO|X| 19,800 1 19,800

103 |EAHH 2 st AL AL H Z|Ef o ZTHEHO|X| 18,800 1 18,800

104 |HAHHES oAb QIEH Z|Ef o ZHEHO|X| 18,800 1 18,800

105 |28 MET5H) ZE P=HotA 80,000 1| 80,000

106 |X|= O|CHE &L} HE HEZ=T 14,800 1 14,800

107 |HE=H, HEA 20|l ASOHEE) of ol =2 MY 14,800 1 14,800

108 | ' (Just Stories) I = 14,000 1 14,000

109 |HESZMN PNER iR 15,000 1 15,000

110 |ZSHErO 1 Soteol &, wetioj2floto| A& 11,000 1 11,000
111 |Zstof 2 Sotof A S 02 AoHO| M2 11,000 1 11,000
112 |ZHEO] 3 Soteol &, wetioj2floto| A& 12,000 1 12,000
113 |=2HEOf 4 Soteol &, witioj2fAloro| M2 12,000 1 12,000
114 |20 5 Soteol f&, FHt{o0jfloto| M-S 12,000 1 12,000
115 [SotE0i 6 Soteol )&, FHty0j2fAloro| M2 12,000 1 12,000
116 |2oHEOf 7 Soteol f&, et 0| loto| M-S 12,000 1 12,000
117 |[Sot0) 8 Soteol )&, 0|2 Aloro| M2 13,500 1 13,500
118 |=2HE0Of 9 Soteof X[&, FHt{0|2floto| M-S 13,500 1 13,500
119 |22HE0f 10 Soteny X[g, FHy0|2fAoto| M= 13,500 1 13,500
120 |S2HEO] 11 Sotef X[ 2, FH0|2f Moo M = 14,500 1 14,500
121 |=22HEOf 12 soteof X|&, |HH{0efAOoLo| & 14,500 1 14,500
122 |2otEO] 13 Sotef X[ 2, FHH0|2f Moo M = 14,500 1 14,500
123 |=otEOf oF =3 L7| AQH ME (H3#) Sotef X[, ZE40|2f A 00| M S 36,000 1 36,000
124 |SotEOel S35t 27|41 otX|d X5, R |02 AMOoLo| M = 12,000 1 12,000
125 |2stoje] 23t =7|d 2 XA K| &, /3] (O] oto|M& 12,000 1 12,000
126 |[SotEO|el S35t = 7|4 3 otX|d X5, R |02 MOoto| M = 12,000 1 12,000
127 |22tEOfe] S5t 7| 4 HX|H X| 2, Ft3] |02 HOotOo| N = 13,000 1 13,000
128 |SotEO|el S35t 27|45 otX|d X5, Rtg| |02 AMOoto| M = 13,000 1 13,000
129 |2otEHOfe| St 7|4 6 HX|A X| 2, Ft3]|0]2f HOoto| Nl = 13,000 1 13,000
130 |[SotEOlel =5t = 7|4 7 otX|d X5, R |02 MOoto| M = 14,000 1 14,000
131 |22HEOje| St 7|4 8 HX|A X| 2, Ft3]|0]2f HOotOo| N = 14,000 1 14,000
132 |28tEofel 23t 27| 9 K& X, 73] |0/ Aoto| NS 14,000 1 14,000
133 |SotEO) otst Bl 1. 2F HEE 08, O|M= |FLI0jHUFA 14,800 1 14,800
134 |=otEo] Otk Bl 2. X7t & Y T8, O|xf= |FLI0] A HAL 12,800 1 12,800
135 |=oHEOf sk B0y 3. QA HdE P O, O|Xf= |FLI0] 2 FA} 12,800 1 12,800
136 |=otEOf 1tst Bl 4. =2 ZEE O, o[sZl [FLOo L GAL 14,000 1 14,000
137 |20 0fst o) 5. =2 1 HEH O3, O|AHZ | FLIof ZdHAL 14,000 1 14,000
138 |=otEOf tst Bl 6: 22| 2 ZEE O, o[sZl [FLOo L GAL 14,000 1 14,000
139 |=otEOf fst ) 7. 45 1 HdEP O3, UAH |FLI0f A HAL 14,000 1 14,000
140 |=otEOf Itst Bl 8. dE 2 ZEE O, dAE [FLO L GAL 14,000 1 14,000
141 |SoHE O] O &5t Li2te| 17 817 1 dFEA O3, X[Xf= |02 HOotOo| Nl = 14,000 1 14,000
142 |Sot0f O &%k Lizto| n 7 817| 2 ol 08, 2 M |0/ AHoto| M-S 14,000 1 14,000
143 |20 O|&fot Li2te] ™ Q17| 3 A A8, A= (0] AOL0| M2 14,000 1 14,000
144 |22t £ Fle= fEY ME - Hs53d o232 X|Z, F3|A |CHAHO 210 65,000 1 65,000
145 |EoHEO] 2518 RS O 8, Wite (O]2fAHO0H0| M-S 13,500 1 13,500
146 | SO =717 O{EHIX 1 S a8, i0j2AMoto|M = 14,000 1 14,000
147 |SSHEO) =747 {EHIKN 2 SLIj™a| Ol ojziloro|Me 14,000 1 14,000
148 |ZoHEHOf =717 O{EHIK 3 S a8, 0] AMoto| M= 14,000 1 14,000
149 |[ME] SOl Bt HEE 1~5 JE - ©5H AAE K|S, XA+ J)0] 24 A OFO| N = 62,400 1 62,400
150 |F=2| A LdHo| Y 1 EE 2133, ZA-™sHo|zfdoto| M- 12,000 1 12,000
151 |2 M dHo| BH 2 EE 208, Z8=0|foto| M-S 12,000 1 12,000
152 |F2| M Aol B 3 EE 2133, ZA-™sHo|zfdoto| M- 12,000 1 12,000
153 |2 M| dHo| B 4 EE 208, Z8=0jfoto| M-S 12,000 1 12,000
154 |F2| M3 Aol EIY 5 EE =18, 2783 0/2Adoro| M2 12,000 1 12,000
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NO. EMY XXt EEtAL 87t 2 A

155 [F2] A 0l HE 6 EE 2208, ZYs}{oleiloto|N & 12,000 1 12,000
156 |F=2| A dHo| BHE 7 EE =208, Z7d30|2Adot0| M2 12,000 1 12,000
157 |=2| Mx| YHo| EMY 8 EE =08, 430|200l M S 12,000 1 12,000
158 |F=2| A dHo| BHE 9 EE =208, 27830/ Adot0| M2 12,000 1 12,000
159 [F2l X FFol &3 10 EE 218, ZYs}{oleiloto|N & 12,000 1 12,000
160 |F=2| MA AdFo| B-t 7t AbA EE =208, 27830/ Adot0| M2 12,000 1 12,000
161 |2 CIMO| ot A CHE R 1~10 "It 215F M E - T10H | 20N AE 2|8 A X EHEORO| 110,000 1 110,000
162 |HBIMO| st A CHE 11~20 Bt Q15 ME - T10# TN 9 X3, d¥ tHE0t0| 110,000 1 110,000
163 | CIMO| ot AL CHE R 21 MOl AEZ|EA NEHEOLO| 13,000 1 13,000
164 |HRIMO| st AL 2R 22 HOlM AE2|8EA A EHEOLO| 13,000 1 13,000
165 | QIMO| ot AP CHE R 23 MOl AEZ2|EA XNEHEOLO| 13,000 1 13,000
166 |2 RIA0| St=AM CHEH 24 oM AEE|EA NEHEOLO| 13,000 1 13,000
167 [HRIMO| Sh=AF {2 F 25 HUM AEZ|HA XEHEOLO| 13,000 1 13,000
168 |2 RIAo| St A CHZE 26 oM AEE|E A NEHEOLO| 13,000 1 13,000
A 225 | 3,087,200




